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QUESTION 1

When should performance measurement of a test be recorded? 

A. when the system is reaching its steady state 

B. as soon as all virtual users hit the application 

C. after all virtual users reach synchronization point 

D. anytime after test execution 

Correct Answer: A 

 

QUESTION 2

Why should you clear the cache when you record a test? 

A. to force the browser to download all page elements resulting in a more accurate test 

B. to force the browser to download all page elements resulting in longer page load times 

C. to simulate a new user who has never used the application 

D. to simulate actual browser behavior 

Correct Answer: A 

 

QUESTION 3

How does IBM Rational Performance Tester use page names? 

A. only as organizers for page elements 

B. only as tags for data in statistical reports 

C. only as tags for data in execution reports 

D. as page organizers, and as tags for statistical, post run, and execution reports 

Correct Answer: D 

 

QUESTION 4

After a test run, the tester sums up all the individual requests response times but discovers that the total is not equal to
the overall page response time. What are three causes of the difference? (Choose three.) 

A. There is a defect in IBM Rational Performance Tester 8.2 that will be fixed in the next fix pack. 
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B. The page response time is more than the sum of the requests because it accounts for time taken to set up the
connections. 

C. The page response time is less than the sum of the requests because several requests could have been executed
concurrently. 

D. The page response time is more than the sum of the requests because custom code for response correlation in a
page is executed serially and is added to the page response time. 

E. The page response time is less than the sum of the requests because the response for the request is in the system
cache. 

Correct Answer: BCD 

 

QUESTION 5

When recording a test, how should you pace the test? 

A. record the test slowly, allowing all pages to load completely so that all elements are fully loaded before proceeding to
another page 

B. record the test using your normal pace 

C. record the test quickly, as pages do not need to load completely for the recording 

D. record the test with varying paces to simulate the behavior of various types of users 

Correct Answer: A 
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